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STATISTICS

Frequency Histogram .iég Il.’q )lef\/&j_c <

The following table represents the age in vears of used automobiles advertised in a

local daily newspaper:

Freg,

Using the data in the Frequency column of

the table, draw a histogram.

REMEMBER
HISTOGRAM
50+ Step L. Draw and label a vertical axis
¢ - to show NUMBER OF AUTOMOBILES.
S 18 ¢ The scale starts at 0 and in-
a 16 I creases by 2 to include the
Lg?\ 1 largest value (frequency in
Uo~l4 1 any one interval.
§; 1> [ Step 2. Draw and label a horizontal axis
= - to show AGE IN YEARS intervals.
w10 f Step 3. Draw vertical bars for each in-
a I terval. Note that there are no
= 3 spaces between bars and the
a 61 first bar is not touching the
5 A [ vertical axis. Each bar stops
) , at its Frequency value.
T o T Aze Interval Frequency
less
AGE \ l or laess f
_,,,4‘1"6(\/&“1 UESCT 0
R L4
12 - 15 ]
17 or more 2

| | |
L. The following data represent the heights of 15 q’.l.,_’ I 39 },‘d, ” HT'
students mnu_}?u%hs/f/iﬁzf/ [ u'r“%ﬂ- i:'l I/.i
/ ' i i T .
g I e fzm
On your answer paper, copy amd complete . U S |
table. [2] —'JT | | | S
S i | i '
Tally < ] i i
Interval Nosiedy [(frequency) 5 ij’l = :
. | | |
55-57 i | tt | "
—1‘1‘-":‘0 i | p ‘3 T ]
h1-63 T -3 qd, 7
6566 i A |
H7-n0 ill z i ? ,
70-72 Li + |
3 +
b On graph paper, ¢onstruct a Ers.,d't)tl_'m-‘,' histo= S 1 e
dram based on the data.,  [6]
[he median s contained ir1 which Intervall [2]
-~ —
J»;— s BSH
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STATISTICS

Frequency Histogram (Contianued)

2. The following data are t 5 scor es tor a class

of 20 students: - }g /—(v /fs.- ‘%v

—T

%/6%;’)9/0

On vour answer paper, copy and complate the |
dlluhlﬂf table. [2]

Tally .

Y

[nterval | _Mumipc hlroqter 2y)
91-100 | LHT \ &
W41 i

81-490 = o
71-30 i kil
61-70 T { i
51-60 ifll § . 3

20

b. UOn graph paper, construct a frequency histo-
gram based on the data. [4]

c. Which interval contains the median? [2]
Which interval contains the lower quartile? [2]

#%ﬁé@@

EERAEINEHE

=N

SO Ra[=ks

Ll §.I

A c:yg‘,
g e7Y §

3. A class record showed the following number of
grammatical errors in each of 20 term papers.

Frequency
Errors (Mumber of term papers)
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4. On graph paper, construct a frequency histo-
gram based on the data. [3]

b.  Find the mean number of errors
(to the nearest 10th)([3] ‘f <

Find the median number of errors. (2]

Find the mode number of errors. [2] C?
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STATLSTLOS

Frequency Histogram (Continued)

4 The folloyipg data err;Sgut the Lxlﬂlﬂlt'oﬂ
marks of /14 jstudents in a certain class:
9. A, ;ﬂ.ﬂ.;{,}&,y,ﬂﬁq
4. On your answer paper, copy and complete the p 17 <,,,
table. [2] = A Tl :
‘jﬁ“ L 0 Il
Teully ¥ g, [H (edirz
interval et [(Frequency) - vl b §
65-13 ifi 3 "tE
74-82 1/ 3 b
§3-91 AT G - e -
| 92-100 i ] j:-f
b. On graph paper, construct a frequency histo- -
asram based on the data. [6]
;i The median is contained in which interval? [2]
_ P g | J;Z :
—(g_"/ ? JICC e A , 7
Xg_q/ S P4 [oh [
7., I —'Té R
S o
) &K ~
Ve
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S A eney¥
5. The tabla helow gives the distribution of test
scores for a class of 20 students.
lest Score Number of students
Interval (fraquency)
91-100 1 ,
31-90 2
71-80 8
A1-70 5
51-60 4
a. Draw a frequency histogram for the given
datas: [4]
b, Which interval contains the median? (2]
¢, Which interval contains the lower
quartile? (2]
d. What is the probability that a student
selected at random scored above 90?7 (2]
1
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STATISTICS '
N
Cumulative Frequency Histogram
| The following table represents the age in years of used automobiles advertised in a F
local daily newspaper: {
™
————————————————————————————— - a. Complete the Cumulative Frequency column. !
Age [Interval| Fre- Cunta b. Using the data in the Cumulative Fre- 2
quency | Freq. quency column of the table, draw a cumu-
- i lative frequency histogram.
L or lass 6 & (D c. On the same set of axis as part b. above,
——————————— A draw a cumulative frequency polygon. .
2 -6 20 )v d. Use your results from part b. to answer 3
———————————————————————————— the following questions: |
7 -1l 14 = y'a ) (]
—————————— - (1) 1In which tnterval does the median ¢
12 - 16 84| 4§ lie? ;
}______,,____-___ -_...._.__EA__ £ (2) In which interval does the upper i
17 or more 2 = SD quartile 1fe? i
—————————————————— (3) Which interval contains the lower ;
quartile? f
b. CUMULATIVE ¢. CUMULATIVE -
FREQUENCY FREQUENCY ;
g HISTOGRAM (bars) POLTCON (line)
STATISTICS SOLUTION ()@f% ¢
o 03 ) ———————— ——
B i _— Vg —————————
Age Iaterval | Frequency | Cumulative 46
Fraquency R
__________ %2
L or less 5 6 /il | e
enesemen e roaanit.
2 -5 20 26 ;5 t)j 316 37.5
_____ = e = 34
7 -1 L 40 232
___________________ 230
12 - 16 8 48 528
______________ ——— e e 16 I ——
i et 52 {
L7 or more 2 50 g aH "
_______ e = 22 !
Fap .
Just keep adding the Frequency = 13
to find the Cunmulative Frequency. S 14 3
vl © 14 '
P :
13 :
3 1
f :1
.
4 4
vy L or J-6T7-11 12-1617 or
less more
AGE LN YZARS
d. 1 aedian (30th percentila) {s the measure where 1/2 of trhe automobiles are
older and 1/2 are naver 3ince there are 50 auccmobiles, the median is between
<5 aad 26. Loeking at the cumulacive frequency histogram in part b, a value
vetween 15 and 26 Fails in the interval 2 - 6.
2. The vpper quartile (75th percencile) is the top 25%. Since there are 50
automobiles, 237 would be 12.5. Tf we subtract 30-12.3 the result of 37.5
can be seen in the interval 7-11.
i '
3. The lower quartile (25th percentile), 12.5 can be seen in the interval 2-5. ; )
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Cumulative Freguency

STATESTICS

Histogram (Con tianed)

1.

The table below shows the discributiaon

of buwling scores.

Cumul ative

[nterval Frequency

RN
; | | | 1
! ; | N
f

IL-110 2 F?__i—"} 5 1alne, | b ]
- b/ ; J, IR B
| 1Li-130 10 | / /0 Camwlet 218 B3

7-:*_-».—_ | | 1
( 151-9 15 a G ] - .
= T T
jisi-io } s 35 &9 et
P / = ‘{51 = | y ! 1
171-190 L 3(", {Gt J ] ]
191-210 ; 3 9 ?,; L i
' e ‘-———____L,.--—--J-r |
211-230 | z,/(:) T e Al -
B3l 34
a. Complete the Cumuelitive Frequency “_J : :

i‘\

r

Soy

T AV —
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s

the company? [2] 50

he How many workers receive

2 weeks of vac

more than

9

Weess

ation? {2
Han rl'll ber p

wks

pares a; bk,

¢. Find the me:
of vaecation.
d. Using the \f_i:.l r-“

and ¢, Jdraw a r

column above, [2] s - !
b. Using the data in the Cumulative £ |
Frequency column of cthe tabLe, \Q__, -
draw a cumulacive frequency histo-o IV Gy el AT
wram. [4] 5 é/ Y TS
¢. Use your results from part b o : | e |
answer the following questionas. & 'Q'_ o g
(LY In which interval Joes 9 S>> S ¢ o o
median Lie? [2) 3?‘ f.}f() ---"“"T e o —
(2) In which interval ul."r':n LE:-: -:'_"_‘_‘_,',—L g \ ]
upper 1uarEL1e lie | oC ‘i‘;éo 2._'~ 4
—-r7a ' ’
The cumulative frequency histogran be- |
low shows the number of weeks of amnual '
'.';lt:.'l?,dn tor workers at a company. I
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g 1 2 3 & s = |
waers of wvacation i ; }
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I’
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STATISTICS

Cumulative Frequency Histogram (Continued)

G e
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3. ._,m..:w frequency histogram below shows the distribu-
tion of scores on a science examination.
i
P Je———————
7 )
s 7 _“
2 8
= 3
B .wlIIII- _n
3 I
H I_
51-60 51-70 71-30 81-90 91-100
s Scores|Frequency]| Cumulative
Fregquency
51=-60 |
b. h1-70 ¥ 5
¢. How many students scored above 907 mu_ﬁwv 71-80 7 iz
d. Using the table completed in part a, d a 21=90 N s ]
cumulative frequency histogram. [4] si-100f T 9 J .
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STATISTICS

Cumulative Frequency Histogram (Continued)

.

\T‘£ points scored by the A-Team in twenty basket-

)

~

ol |

;‘9111 zames are y A3,
B A
%0

b~ 1

a, Find the mode.
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b. On your answer paper, copy and complete the “@' _J
table below. 23 [ J
i
07 H L O S -
7 T
20 ! ! ;
lut=rval |Tally|Frequency| Cumulative Ly
frequency ;:?
35-37 7] . X A A
3234 Li 3 £ O
29-11 i41 1] 5 5 jV 1
26-28 i1 3 1 \t:hfr
)k -z ||| 4 9 &
-
i

¢. Construct a cumulative frequency histogram

S [ [ [
. . ™ S sk fopd
based on the table completed in part b. (%) 1Ny I
d. In what interval does the median lie? (2) 3:;,'#@&\5; =)
— e}
(r'r‘i"‘m'n/
- . . . ) g ~ i. JJ b e
>. The table below shows the distribution of scores
of 20 students on a test.
Scvres |Frequency [Cunulative
Pragquency =
91-100 !
Fl-50
T1=-510 7 J
51-70 3 L |
| 31=-60 1 |
| || !
- T f
|
| [
|
a, Using the data in the Frequency column of che [
ab draw a frequeney histogram. (4) [
b. lomplete the c¢olumn for Cumulative Frequency. . ]'
I the data in the © Lative frequency | I
: !
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